ADDITIONAL MULTIPLE-CHOICE QUESTIONS
1.
Sensation is:
a)
feeling excited 
b)
the organisation of sensory output
c)
the interpretation of sensory information
d)
seeing an object without knowing what it is
e)
b and c.
2.
The just-noticeable difference is: 
a)
the minimum amount of stimulation that can be detected
b)
the maximum amount of stimulation that can be detected
c)
the average amount of stimulation that can be detected
d)
the absence of stimulation
e) the smallest difference in stimulation that the senses can detect.
3.
After listening to really loud music for a while it does not sound that loud any more. This is a result of: 
a)
the just-noticeable difference
b)
the threshold
c)
sensory adaptation
d)
subliminal perception
e)
signal-detection theory.
4.
The moon appears bigger when it is near the horizon in comparison to when it is up in the sky. This phenomenon is due to:
a)
perceptual constancy
b)
an illusion
c)
subliminal perception
d)
the just-noticeable difference
e)
extrasensory perception.
5.
Which of the following refers to a factor in a situation that could influence 
perception?
a)
experience
b)
time 
c)
size
d)
interests
e)
expectations
6.
“She must feel terrible about not qualifying for the competition. I know how I felt when it happened to me” is an example of:
a)
projection
b)
stereotyping
c)
the halo effect
d)
the primacy effect
e)
subliminal perception.
7.
When the first employee who finishes a test is consistently receiving a better rating, this is an example of: 
a)
stereotyping
b)
projection
c)
appearance
d)
the primacy effect
e)
prejudice.
8.
A person schema refers to:
a)
how we perceive ourselves
b)
how we perceive others
c)
our perceptions of how others should behave
d)
our perceptions of the order in which people should do things
e)
what we perceive as acceptable manners.
9.
John did not get the promotion he wanted. While he blames it on the selection process and the people involved in the decision, you secretly believe that he was not selected owing to his personal shortcomings. What kind of attributional 
error is evident in this case?
a)
an external attribution
b)
an internal attribution
c)
the self-serving bias
d)
the actor-observer effect
e)
blaming the victim
10.
Cognitive processes as an explanation for the development of prejudice relate to: 
a)
the influence parents have on their children’s thinking
b)
intergroup conflict
c)
the in-group and out-group effect
d)
socialisation 
e)
all of the above.
Answers:
1.
d
2.
e
3.
c
4.
b
5.
b
6.
a
7.
d
8.
b
9.
d
10.
c
QUICK SELF-ASSESSMENT 
1.
What is the process called through which the senses pick up information from the environment?
2.
What is the scientific study of the relationship between physical stimulation and psychological experience called?
3.
What is the weakest detectable stimulus for any sense called?
4.
What is the point called at which the smallest change in sound can be heard? 
5.
A researcher has tried to influence purchasing behaviour by flashing undetectable images of a product during the screening of a movie. What kind of perception does this technique rely on?
6. 
What is it called when a person gets used to a dark room or a loud noise?
7.
Name the six Gestalt laws.
8.
Is atmospheric perspective an example of a monocular or binocular cue for depth and distance perception?
9.
When a truck parked next to your vehicle suddenly pulls away, you think that it is your car that is moving backwards. What is this phenomenon called?
10.
The moon appears to be bigger when it is seen closer to the horizon than when it is seen high up in the sky. What is this phenomenon called? 
11.
When a car is parked 150 meters away and the image picked up by your senses is small, why do you still perceive it as a big object and not a toy car?
12.
Name a factor in the perceiver that influences the perception of an object.
13.
Which perceptual shortcut is evident in each of the following situations?
a)
You see your friend as a rough diamond – he is big, unkempt, loud, socially unsophisticated, but with a soft heart. 
b)
I will not forget that first day she came to work. She looked so insecure. I cannot believe she is so confident today. 
c)
I think I like her. She is so cool. Look at her hair, nails and shoes. 
d)
Her project is so much better than Jo’s. I think I am going to subtract 15% from the mark I gave Jo.
e)
I want promotion. All people work to be promoted. 
14.
“I failed because the test was so difficult.” Is this an example of internal or 
external attribution?
15.
Which three factors do we consider when we make an attribution about other people’s behaviour?
16.
List four ways in which prejudice develops.
17.
List three approaches to reducing prejudice and discrimination.
18.
In the current economic climate sales people find it very challenging to achieve sales targets. What kind of attribution error occurs when a sales manager blames the employee’s attitude for decreased sales without acknowledging the demands of the situation?
19.
What kind of bias is evident if you consistently consider yourself as more talented and more exceptional than other people?
20.
What kind of attribution error is evident if one of you friends gets dismissed and, despite evidence to the contrary, you believe it is his fault?
Answers:
1.
sensation
2.
psychophysics 
3.
the threshold
4.
the just-noticeable difference
5.
subliminal perception
6.
sensory adaptation
7.
the Laws of Proximity, Similarity, Continuity, Closure, Symmetry and Common Fate
8.
monocular
9.
induced movement
10.
the moon illusion 
11.
perceptual constancy
12.
expectation, motivation, interest, and so on
13.

a)
person schema
b)
primacy effect
c)
effect of physical appearance
d)
contrast effect
e)
projection
14.
external
15.
distinctiveness, consensus and consistency
16.
intergroup conflict, authoritarian personality, socio-cultural learning, cognitive processes
17.
education, intergroup contact and legislation
18.
the fundamental attribution error
19.
the self-serving bias
20.
blaming the victim 
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